U1 OFIRSAT v FIUKR e
FLNWRIDERRICETF-A3S
=5 J\&t CH 3 =] Sl 9:00 XyE; Expil
ATJOvD J\&F FLIRES EchR »JU—=U POEFERT | B | BL| D | | e | e 1 10:00 A J\&F ALREE rITI—=U ick S S
J\&F 2 10:25 A EcpR | PTU-U J\&F FLORES
FLIRES 3 1050 A AR J\&F B | PTU-U
EpR 4 1115 A ALIRES EpR FTFE— J\&t
ARV 5 11:40 A | PTJU=L [ =S ALIREE SR
FEFE— 6 12:05 A J\&F EpR ALIRES PTU-L
7 12:30 A ALIRES PR J\&F EPR
8 12:55 A J\&t PII=U ALIREE FE—
9 1320 A E{cpR s J\&t PIU—=U
10 1345 A ALIREE PIU=U ZlcpR BEFE—
=i J\EFL =2} 4 =] Sl 800 XU gl
BJOvD J\&HE WDFA 2 R0 WDFB | B | 8| 2 | wm| o= | e 1 9:00 B J\&HE WanFA R0 WnFB
J\EHE 2 925 B 24 TR0 J\EFE WDFA
WDFA 3 950 B WanFB J\EFE = 30
2l 4 10115 B WDFA = WanFB J\EHE
30 5 1040 B R0 WanFB WDFA =30
WnFB 6 11:05 B J\EHE =2y WDFA R0
7 11:30 B WaDFA WanFB J\EHE 1
8 11:55 B J\EFIE TR0 WaDFA WnFB
9 12:20 B 24 WanFB J\EFE R0
10 1245 B WaDFA R0 24 WnFB
=i J\&FT = 4 =]
cawvo J\&TE8 M=% =[] BHE | B B | | e im Sl 9:00 XyE; Ecgl
AN 3 i) 1 925 C J\EFE8 MZ—% ={0)= BHE
R-_—% 2 950 C =0l BHE J\&FE8 NZ—%
=[] 3 10:25 C J\EFE8 (o) MZ—% BHE
BHE 4 10550 C NZ—% BHE J\&FE (o)
5 1125 C J\&FE BHE MZ—% (o)
6 1150 C NZ—% =0l J\&FE B




